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odeyeny : (1) e alamss@rd sflurs oFsl udeurdl o drengr eranugmen
sfluriggs Qarerarayd. Fsiulede Geopull@luGa smps
sawsreriuurerflb o Languirs Gsfeilssab.

2) Beb Soegk sHUY ewdamer L HiGL YHusHEGL LLaTUHSS
CeuaT(td. UL RIGET euanreusm® Cuemdle LwemLHSSalb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

GOl : Geusllamsgrar epemm) Gflesmers HsTarTLg).

Note : This question paper contains three sections.

Wfey- 1/ SECTION - I

(wdLGuarser : 15) / (Marks : 15)

@@uq : () @ulfelier 2 drer 15 alflenmésiEns@h eSlenwatlssea .

15x1=15

() <eolys eMlaea GerhésuulBerer wrhm et sefle
Beeyw efwrer elwLamwus Corbbshsis erpsaylb.

Note : (i) Answer all the 15 questions.

{ii) Choose the correct answer from the alternatives given in the brackets.

[ S{milicugss /7 Torn over
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1. Sudrereupmiet uryUiLg sareow QsTaETLg)

(wruen wropw GelwlulL Apsan, saaTdlad Wbruay wWTHHL
GelwlulL gargar, Gsred Gewedller wrugn wWrHPL Geiwliul Leney,
Lmeinig& Glgaedled wrugm LrHph AsLwLLeael.)

Which of the following is inheritable ?

(an altered gene in sperm, an altered gene in liver cells, an altered gene in skin cells, an
altered gene in udder cells.)

2. demeumeuameupmier Limdieflureurd e ammgn Crmis
(epenerd smigee, Cleuflpmissty, @remrmened, Quflwibeni.)
is a bacterial disease.

(Meningitis, Rabies, Tetanus, Small Pox)

3. pogl 2Ldlarn weartlepssl Geuefluum e 6 sl GUUESSID pememuier LGS

(m eypenar, QU epener, serwev, eanGursemos.)
The part of brain which controls emotional reactions in our body is

(Cerebellum, Cerebrum, Thalamus, Hypothalamus)

4. smeydpllen G %6 ImSng.
(Slems, safl, s@pomeanr (eramGLmevuUmD), saflgGama (Guflgmi))
Post - fertilization, the ovule changes into a/an-_-

(seed, fruit, endosperm, pericarp)

5.  wallsafear symefl o L qur.]uﬁemp
(98.4° - 98.6°F, 96.6° - 96.8°F, 94.4° - 98.6°F, 98.4° - 99.6°F)
Normal body temperature of man is

(98.4° - 98.6°F, 96.6° - 96.8°F, 94.4° - 98.6°F, 98.4° - 99.6°F)



10.

11.
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LEBSTaTRGD sTaTiLED Thss Qs maraplieou eaey 2 HUsH
QemAHFTeNaSET 6Tl SMPEHOTD ?
(enwl CLrasramy flur, vshsamils, aanrGLriearrsaueme, o & )

of green plants are called factories of food production.

(Mitochondria, Chloroplasts, Endoplasmic-reticulum, Nucleus)

Cuskiseamers grangs Geuphenaurs wew QUi o gayb CeuglLEUmGHAT.
(QuriLrflwd SGureaLp, sroflwn sriuGarl, shes L Y sae(,
< Cwralwn urevGuL.)

is used in seeding clouds.

(Potassium iodide, Calcium carbonate, Sulphur dioxide, Ammonium phosphate)

Qupas aumyelld sramUuiLD (poemenowrer 6luUm(meT
(r5Cgen, B5CHeam, yGrmiGuer, Ww,” GLer.)

is the chief component of natural gas.
(Ethane, Methane, Propane, Butane)

@ GeuLuw Garearellanamuile, Qestiuflenaenw _________ sen TSl mer
<4dlsf&@0.

(@fsissme | Gopsara.)

In an endothermic process, solubility increases with in temperature.
(increase/decrease)

Geudl erflbenay erarLg)

(s(Dena eflenan [ Slavsamsed allenan. )
Chemical volcano is an example of

(combination reaction/decomposition reaction)

arsen 2 SflCurskser surfésl Lwau@ieug
(Fl&660 6Too@, HHUIAGESTS 6To oS, Qauaimsab, Gudeammawib. )
is used in making automobile parts. o '

(Nickel steel, Stainless steel, Bronze, Magnalium) -

[ Simuys / Turn over
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12,

13.

14.

15,

usLlemso Yeaumflen ~a UnGeummientd eulg6uLD.
(enBLTM6n, SMTLIGH, &6 L)
Buckminster fullerene is the allotropic form of

(Nitrogen, Carbon, Sulphur)

ewe| Hleoaulaerer sanorar Qurmeallar o Hew
(Bl& flab, Wes Gompey, s, wpruedled.)
The momentum of a massive object at rest is

(very large, very small, zero, infinity)

285 Hupsmeansefld o drar Curg urliy wHp UFlUseeT &Nl
<2igls Geuliugeang o sauirdlpg).

(Qeussmenio, GarrCerriiuneT, smenl, EEseT.)

surface absorbs more heat than any other surface under identical conditions.

(White, Rough, Black, Yellow)

@ sDEGFHECarT(H Qariiyenw .‘&rr‘r_'r,gmunmm wrmw. Curlgaerb,
SiFspile Waallusg elleos e maurgh Hlapey

(Bleim 155 Hnam®, WenGarmlLh o (heursed, Waanpssn o (Haursed,
BlenGamm_Lib wrppluBge.)

The phenomenon of producing an emf in a circuit whenever the magnetic flux linked
with a coil changes is

(electromagnetic induction, inducing current, inducing voltage, change in current)
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19fley - II / SECTION - II
(ndlLiGluemaser : 40) / (Marks : 40)

@Oy : gCsed @mugl laEs@EsEE ellen L af&&EaiD. 20x2=40
Note : Answer any twenty questions.

16. umpbLAWLD sTiHe Ao pafwus QerpEduysear 6w Qarhss UL (HeTeTe.
supmer e Auaeupans CaTHEsHES LS.
(i) sryanilser @uplbwed srisg urFoLilug SIS < @ELWD.
(if) eranugl @Or Sefllearn wrHNS SemELLITELD.
(i, wrpurBed, dpdlenorse, ger, sealGar LD e oL{&ET. )

Here are certain important hereditary jargons. Fill in the blanks by choosing 2 suitable
one from the list given. (allele, variation, speciation, gene, allelomorphs})

(i) are the factors which form the physical basis of inheritance.

(ii) is the alternate form of the same gene.

17. Ceumur(D&ET ramIed ereie ? SIS GUensHSET Wirena ?

What are variations ? Mention their types.

18. Ep&saTLcudmET SEHS Qeemsmants CUNhESIs.
(o@mpgsaT, eri@urgme, Hiamamudi, cueTifleng LIHOL, &flo SidlewkisET.)
i) sEUY WEHHS i) Quoms eury
() Hfs sfleod (iv) eneulL LOleH&ET
Match the following by identifying the pair.
(medicines, fuel, microbes, metabolism, organic acids)
i) Vaccine x (if) Natural gas

(i) Citric acid (iv) Vitamins

19. sngryen seflwme urdésluul L pufliibd sremliLin Aurgeairar SifEhaar
Wmened 7 .. . .
o —— . W -

What are the symptoms of common cold ?

©  —_— SR | :

[ Slgpluys / Turn over
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20. Slemeumeuameunmyer 2 flw RWPEIG BAMWLE| perm

() @eCariyer - QaUuGLreer > Urédear — GUGeTriear —
Lwenstlanden.

@ LwmsCardlav - wsGarigen - QoUCLTed — Ursdlieer —
g LICGermm_ie &,

() CouGLred - @sGsrigen —» Urédedr - g UCGerrile e —
Lwenalendlen.

Pick out the item which has sequential arrangement.

()  Zygotene — Leptotene — Pachytene — Diplotene —» Diakinesis.

(i)  Diakinesis — Zygotene —» Leptotene —» Pachytene — Diplotene.

(i) Leptotene — Zygotene —» Pachytene — Diplotene —» Diakinesis.

21, (<91) UL A, B-edW SieD_ILIMETLD ST6TS.

(<) A -Wlle erbgls umsib B -<2p& LrmEng).

T T

?'n*ff@ g

(a) Identify figure A and B.
(b) Which part of A is modified into B.
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22. o emeLEEMSS (A) : uTeT uen Qs @ @wGurtnefs @ swiw

5B

gyewetd (R) c urerlyseaid @swssguy Spuumer &
spepsarred  sLOLUBSSLUBEDE. (Guen
Casir.)

(<21) (A) wH@D (R) @ram@d &f; (R) bans) (A) -ew elleté@sing.

(<) (A) L (R) GremBo efl; syenma (R) ans (A) -eow aflem&smallvaney.
(@) (A) v GCwW &fl; yemmed (R) Seum)

() (A) saum; penmed (R) &l

Assertion (A) : Mammalian heart is called myogenic heart.

Reason (R . Heart-beat is regulated by a specialized muscle bundle (pacemaker
gu yasp P
in mammals.

Both (A) and (R) are true and (R) explains (A).

b) Both (A) and (R) are true but (R) doesn’t explain (A).
¢) (A) is true but (R) is false.

d) (A) is false but (R) is true.

d

[P P

[

23. @réssder Gerravionr UGHuile srerrlLGD WaTTevoT LGl lecser
eapanflenans sms. eupilar Laflsmerun GHUEAHS.

Name the three important blood proteins seen in Plasma. Add a note on their functions.

24, o Ladan “orevi Qsblevl” eramm Amfren seowssiuBng - STraTD

s HbE T (pHIS.

(@) 2Ll QupiU@pD Aamagg CauFu CLMHETEHERL Ambrassle
Quplinmdlenmen.

(<) Amran, @réssdan Caudulmuy suo Howmul Cuaydpsg.

(@) Smbran, eLadd Qunib Smeargg Cafl Curmarsememnyd
QeuaflCubmdlmg.

() SpBraw, oLl smengs Caudll ClummeTsamamLD Cabgg meussls
Qererdlpal.

The master chemists of our body are the kidneys. Justify.

(a) Kidneys filter all chemicals in the body.

(b) Kidneys maintain the chemical composition of blood.

(c) Kidneys eliminate all chemicals absorbed by the body.
(d) Kidneys store the chemicals accumulated in the body.

[ Spuys / Turn over
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25,

26.

8

&G QsrBésuul_Harer s | PenpsGerr(h, Seunblen Anly o miiysemen
556 THSHEST_HLe QUTEESS.

goemiy e qpenp |ewwsGaramyser Goutser SEVEGLLT
@(pamaflsar  |usemsun wrGerm_Grriium
L0 &5 tor eawfl a6 anrenGLrilwukise émanQavaan

Match the methods of nutrition of special organs with suitable examples :

Autotrophs Mycorrhiza Cuscutta
Parasites Chlorophyll Monotropa
Saprophytes Haustoria Hibiscus

Cer@ssuul g maEh ULsmss seaalas.

(==t) UL A, B Géd sremiuBn Qusstismens GHrd@s.

() vy Qeselwssmsda Qsriird Hayud
BussnsaiaBos CoumuBdamen ?

Observe the diagram :

(a) Mention the type of movements shown in figure A and B.

(b) How does this movement differ from the movement of mimosa ?

@ enavaafan
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28.

29,

30.

31.

g 5780

SeUTEGHE ETETDITE GTemam 2 HTHIETET FeUTESSEETE GeudlF sLoemTLig enet
T(DEIS.

What is respiration ? Give a balanced equation for aerobic respiration.

Yenaipeuanaperpll Lwau@sS o anels srdedlau e (HoursEEs.
(Lmby, L, WG, seuemer, Geul Hadlefl.)
Depict a food chain by placing the following organisms in the correct trophic levels.

(snake, grass, eagle, frog, grasshopper)

QuUIBHETEMS HEGS.

(@) 2 19f-psanred, UFms e, 2 ulfl-rgi, ulGrraiwib,
(<) sreopm, epLo.umi@, Qerd frkg, F56usl.

Find the odd one out :

(a) bioc-alcohol, green diesel, bio-ethers, petroleum.

(b) cholera, typhoid, scabies, dysentry.

Al gl darsgsman (CFL) Qauliugsred gefigpd elarsEGs@rsEL
vflors LwaTLBGHwETO an(éE 6,000 Qwsreuir. werarThpe
Gabl&semb.

ellemT eripliLs.

(i) _? () — 7

Substituting energy efficient Compact Fluorescent Light bulbs (CFL) for standard
incandescent bulbs will save on an average upto 6,000 megawatts of electricity each
year.

Raise questions :
@ — 7 b 7

CursEurss arsmbsalao LLELHSSID BraEg auﬁiﬂ-&rﬂ@]un‘@f_&s@ﬁ
wirened ? |

Write any four lquid bio-fuels for transportation.

[ &wlins / Turn over
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32.

33.

34.

35.

36.

37.

10

(1) watllturenhseficn SIEELLHL Uy erg ?

(<) Seueumyeilen sardpenar <ifsfés fruser ereamar Gelesisdr 7
(a)  Which gas is dissolved in soft drinks ?

(b)  What will you do to increase the solubility of this gas ?

g GIL_TEL Glenemey GTeammel eramem ?
What is Tyndall Effect ?

11 8l CO, -afled 2_éer ppavssmmsaian cranaflsmamus sarsd (s,
Calculate the number of molecules in 11 g of CO,.

Feummest Fnennd Fifl CHelis.

(@) Gemgud  DuaGerCul eameys QurGLlsmaT USLLEESL
LweTuHE D).

(<) flevsmushler eplfs eifleon 2 qorsl LuaLHHDE.

(@) spss siflon Caufll durmdseian sirse arar SowssLLRADS.

(/) <uflewgdlen pH iy 7 o ol siflsors @masi.

Identify the wrong statements and correct them.

(a) Sodium benzoate is used in food preservative.

(b)  Nitric acid is not used as fertilizer in agriculture.

(c)  Sulphuric acid is called the king of chemicals.
(d) The pH of acid is greater than 7.

() sevfedlan mapl o swellwlar Gemdley 0.001 M eTafled, yssamrseden
pH widlueu samBilliy ssea)b.

The hydrogen ion concentration of a solution is 0.001 M. What is the pH of the
solution ?

geuprar eursdliudens Hmsd eripss.

" Ggmfie saflwhseflear 2 Carsgseanamio .Uﬂ;@asrﬂg,qjm <Garss serann
G@DHEID srewrLhElng).
Correct the mistakes, if any in the following statement.

In a period, the metallic character of the element increases whlle their non metallic
character decreases.
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39.

40.

11

smpPhaErer sTransms 2 mEliubsss.

gapml (A): Blempeamd &g eranig 2 Garshisamer <iflragdlalhbg)
LmgsTiLg WL (HL@T®, UsTUeTuamuub HaflsSng.

snyesuTd (R) 1 @f o Carageng wnGpri 2 Carsgslear b Wensmrsler spalb
LFEUSDE WIe (LpeDd L& eTammy Gluwir,

(<=1) (A) &, (R) Seuny.

(<=4) (A) &M, (R) Gumphgseiicana.

(@) (&) &fl, (R) GQur@HEHDE.

Assertion (A) : Electroplating method not only protects but also enhances the
metallic appearance.
Reason (R) : Electroplating is a method of coating one metal with another by

passing electric current.
(a) (A) is right, (R) is wrong.
(b}  (A) is right, (R) is not relevant.
(c) (A) is right, (R) is relevant.

GEUTD SITUEenL W LnGaupmieno 6ulqeumlSETheT GENmT@HD. SS6T Sy s

SSTENDEETEN STTERTHENTS Fnflis.
Diamond is the hardest allotrope of carbon. Give reason for its hardness.

srremdensd 2 MSUUBSSS.

Fammy) (A) : Cum Bparhseaie, yallar Sjuulle smwsslulL sl
& LTI & 61T v Slreuréas UL @efl Ml eumw&aar
GgailsaluPSenmar.

smyewio (R) : Hreuwnrssiul. @gealflaurysser Hoar aJamreaumsgs
s(H&slemmar.

(<=1) (A) seupreng), (R) sflwrens).

(=) (A) sflureng), (R) seupmens).

(@) (A), (R) @reawr@b seummens).

(rr) (&) sflurang), (R), (A) -8 ausllunssdlmg.

Assertion {A) Liquefied cryogenic gases are sprayed on underground electric:

) cables in big cities. : .
Reason (R) :  Liquefied cryogenic gases plevent wabtage of pow er.
(a) (A) is incorrect and (R) is correct.
b) (A) is correct and (R} is incorrect.

(
(c) Both (A) and (R) are incorrect.
(

(A) is correct and (R) supports (A).

5780

[ &plys / Tun over
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41.

42,

43,

44.

45.

46.

12
Buersls Slsuys dmever __ gdludlgi, euwmEhspld Simuys Spamer
@dullgun Golud(eug wry
As a matter of convention, an anticlockwise moment is taken as and a

clockwise moment is taken as

QTS5 5.
1) |Bemenpss Caumunr(h | (1) |sagd
(@) |8 enGermm_L_tb (=) |Geumedl
(3) | Seemr L b (@) |eb
4) | Hensenwnés) (/) | Bl L
(2.) |G

Match the following :

(1) |Potential difference (a) |Coulomb

(2) [Current (b) [Volt

(3) |Electric Charge (c) |[Ohm

{(4) |Resistor (d) |[Newton
(e) |[Ampere

Camgl L @1 musemst ElTlys.

WBlem 2 (s Genip 2 Carss el o ar Wil @G0, @) .3
28l& Wleansen_enwib 2 (K& Blavavewwd CETarLg).
Fuse wire is made up of an alioy of which has high resistance and

melﬁng point.

Cerhssiul_(perer DM pparigaier UmmEETs aeamemn sar(Hidiy&s.
(GAw bpd, Bl ennd, e War hme, 2 udfl SpHmed:)

In the list of sources of energy given below, find out the odd one.

(Solar energy, Thermal energy, Hydropower, Biomass)

2@ GHG@adan Gelwsgrn 2 5. arafle, Qearadar Sper sicins.
The focal length of a concave lens is 2 m. Calculate the power of the lens.

colbleTiiflen @G aflflenus smus.
Define Fleming’s left hand Rule.
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47. ULy 2 DmCHT&ES, Spssam_unan Hrlus.

(<=t) GNDUTHETET &at.
(e2¢)__ Geaney uwaTu@SSeUSET (L @QES Genpaws &il
Glawemb.

Observe the diagram and fill up the following :
(a) defect of eye.
(b) lens is used to correct the defect.

e 5 A

Y

Slifley - 1I / SECTION - 111
(wSlLGluemger - 20) / (Marks : 20)
GOl : (1) @atamm LGEHWTOHESIL @ eSam aish KraE ellamEsEnHeE,
cllenLwWefl&sHe]Lwb. 4x5=20
(i) geubleumm efllammelDELd @mmHg wEHUGLIeTSE.
i) Cgeneuwmrar @ misaflédd LLD euenrs.
1)  Answer any four questions by choosing one question from each part.

(

(

(i) Each question carries five marks.
(iii) Draw diagrams wherever necessary.

Note :

u@E - 1/ PART - 1
48. seT GLHMS GUnHmETETTT.
(=) Ups, GREPSEE (PED D OTSHSERES ipns Cadmgw Crmis
SOULLE @il Leuananmenil TGS
(<) B5sOLLAsET gpawd ahUEHE Comismars sGES- Guigid ?
Kala has delivered a baby.

{a) Suggest the immunization schedule for the baby, in the first six months.
(b)  What are the diseases that can be cured as per the schedule ?

49. ®mrbY @&sﬁéﬂ&‘:“émmu.mug' Csefleurenr ULSFIL e LTSRIG@ETS GDST

ellan s @,

Describe the structure of a neuron with the hellp' of a neat, labelled diagra_m.

[ iplis / Turn over
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sl - 11/ PART - 11

50. (=) smoymsellen ellenereuns e meureug safl. SHUNSH HoLGUDTLD
FCasa@ib saf 2 (meurdlpsr ?

(&) sallser ausliumigen 2L cumenTs S(5s.

(@)  Fruit is the product of fertilization. Is there any fruit which is formed without the
act of fertilization ?

(b) Represent the classification of fruits in a diagrammatic sketch.

51. | sfleow erfiuudlenred puBD Sow LLEGD QFudsmear ULy weHs.

List out the harmful effects of burning coal.

L@ - 111 / PART - 11T

52. () mCenCGLrliy eremred eTemam ?
(<) stusr Cpr alldlullen Lwensefles Cseb fpen sms.
(a) What are Isotopes ?

(b)  Write any three applications of Avogadro’s law ?

53.  &anmed LMHEGeUSTe giuiib S ellmeteyser wrenal ?

What are the evil effects of consuming alcohol ?

L@&s - IV / PART - IV

54. | apglymuen - I -ar emgameanaEnat oCaaIb QHE TS,

Write any five achievements of Chandrayaan - L.
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55.

(=) Gl 2drer uLgans e cuanys.

(=) @UuLd EAud@eug

(@) uLsfer WeSlwbrer UTSRIGMETs GDESaLD.

(rr) E)ssmell ergssaeusdlen g linen le Qeuoubdng ?
{a) Redraw the diagram.

(b) This diagram represents
(c) Label the parts of the diagram.

(d) Mention the principle used in the device denoted by this diagram.

-00o0-
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